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- AATAA Febw 1.8 UM AEZF2E FAl=7] 0.6m x0.5m

= 6.0m °lA
o2}

x3.0mel FT#)eol 2705 Fol 3.0(m) x 200%)
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HsE=(VL) =

-]
s

9

0.109cm/sec(&A), 0.089cm /sec(HAE)o|r}.

1,800x9.8x6.0 = 105,840 Joule (kg-m2/s2)

)— 1.15

R
V'=0.0045(———
VE



0.0045 {(2.74/(105,840)"-°)} 119 = 0.0045- {(3.28/(105,840)">)} 115

= 1.09 mm/sec = 0.109 cm/sec : =& = 0.89 mm/sec = 0.089 cm/sec : A=
0{7|M,
R: 7&'%%4 ot o EXIE 7K o[ZAHE|(m)
E @ EHSAA st AT HS5tEH0 2/t fIX[ou X[l SAo
I

ﬁ (Joule) / E = mgh
m : =5t EHER e SEHke)
g : S87t5=(m/sec2)

- SAagQAe] ARl FRHEAN AFE AulE oA, AV, BIA,
gree] duTEY Solt
- S AHAe @RA FHEAA ANEF AFel AL T oA AEA

1Al
ﬂtﬁﬁ‘l%ﬂﬂﬂ(c’]zﬂuﬂﬂl lO.OmI%L%L, 10.54m:7=)< 59.1dB(V)

LS

VL= VL,—20 « 1og(ri)
0

61.1-20-Log(10.0/7.5) %! = 61.1-20.Log(10.54/7.5)" %!
59.1 dB(V) : & = 587 dB(V) : A=

o 7]A, VL: Xsdo=zHE Ag rim) o Ao -s#HE(dBV)

VL) RFdoNA ry(m) Dol HolX ZH" A-seE(dBV)
ro: S HEXEX| o|AZHE|(m)
ro : LS 71E SEXEMNA o[z 2[(m)
n 7[5t A=

- HAHWRELEE= (VL= ofelet Zo], 0.1lcm/sec(8#), 0.10cm/sec
(AE)o|r}.

VL = 13.54logV+72.33 (el=&tZdE2 - A ETI}E)
V = 10(VL—72‘33)/13A54
= 10(591772‘33)/13‘54 - 10(58.7772.33)/1354
= 0.11 cm/sec(kine) : EH&t = 0.10 cm/sec(kine) : A=

0{7|M, VL : ZIS2|H(dB(V))
V : ZSEHE(em/sec)
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